BN THEE

DRNTEREE 1A IE
T A EVET A R RS
R TR
(BA7 : <FA)
B & ® F FEETHE | WEETRE B ® W o=
x| @ | A
BEERIC L HIA )
SRA 1,900 1,900
FARA 500 500
EEBERHERA 22, 206 13, 864 8,342
ZREAINA 67, 755 53, 200 14, 465
WEA 10, 614 10,519 95
£ OO A 623 633| A 10
FOREEIR AR (1) 103, 598 80, 706 22,892
WEEBIC L SEH
Ak 77, 346 74, 546 2,800
FHBETH 18, 783 18,199 584
FHEIH 10, 604 10, 486 118
HEIFERSEWRRBITH 3,776 3,761 15
B & 6, 598 623 5,975
AT 101 191
HEBEBHIMH @) 117, 208 107, 806 9,492
FREDHRLRTEE () =(1)-(2) A 13, 700| A 27, 100 13, 400
HERR N AR (4) 0 0 o
HERRMEM ST HE (5) 0 ¢ 0
HREMS RSN X EH(6)=(4)-(5) 0 ) 0
FOMOTHEENC L BIWA
TR EE IR A 200 200
FEESHERALZRA 14, 000 27,500 A 13, 500
H— R XA EBRA A 7,428 19,385 | A 11,957
L OBOTEESIRAZT) 21, 628 47,085 A 25, 457
T OOTERIC L5 EH
T AR AR 7,428 10,485 A 12, 057
£ DB OEESIHIEHE) 7,428 19,485 A 12, 057
TOMOERRERTZH(D=(T)-(8) 14, 200 27,600 | A 13, 400
TR FH (10) 500 500 0
WA B R AT S FEAE AR (11)=(3) + (8) + (9) - (10) 0 0 0
R SHA R &5 (12) 0 0 0
LHRELR&ARE (1) +(12) 0 0 0




HEWNXTEE

FITEEE1IREIE
i A PELESELRES
AT
(BAL : FH)
M E B F REETEE | AEETEE 8
% | # | A
WREBR L BEA
FHERA 50 50
FRERIA 10, 600 10, 000
PET A 20 30| A 10
riRBRTHRIA 58, 161 58,604 | A 443
BEEAL Y — A ESIA 6, 402 5,438 964
E e HrHEU A 12, 480 11, 130 1,350
Z O DI A, 1,890 1,859 31
SR EREERA 10 10
WREEIRAR (1) 89, 013 87,121 1,892
HEERI L5 H
PN &3] 87, 499 75, 328 12,171
TR 4, 489 4, 334 156
R: %] 5,525 6,459 | A 934
FRIBESTHE(2) 97,513 86, 121 11,392
BEER ST () =(1)~(2) A 8, 500 L, 000 A 9, 500
BRI AR () 0 0 0
RSN X A E
IFE E  E E e S Y 2, 890 600 2,290
BERR M S gt (B) 2, 890 600 2, 200
HREMHSR SN ITZRE) =(D-(5) A 2,890| A 600 | A 2, 290
T OMOFERIC L DIRA
PISLRAETU A 25, 890 27,600] & 1, 710
SR AETA 1, 000 1, 000
H— 2 ESHEAEIRA 11,910 600 11,310
£ OOTEB SR AR (T) 38, 800 29, 200 9, 600
ZOOTEEIC LB
BEXSMBAETH 14, 000 27,500 A 13, 500
37 KA R AR 2 1, 060 1, 000
H— ARSI 11,910 600 11,310
T DOEOERSI HE(8) 26, 910 29,100 | A 2,190
T OO FE R R S I M (9)=(T)-(8) 11, 850 100 11,790
TR 32 (10) 500 500 0
LIRS K AR A B (1) = (3) +(8) +(9) - (1) 0 0 0
A ARE LT B (12) 0 0 0
LR @R (1) +(12) 0 0 0




